Table 1:

Convolution Table

No fi(t) fa(t) fi(t) = fo(t) = fo(t) * f1(D)
1 f(t) o(t =T ft=T)
2 Mu(t) u(®) L= ;Atu(t)
3 u(t) u(t) tu(t)
oMt _ ot
4 eMtu(t) ertu(t) ﬁu(t), AL # Ao
1= A2
5 eMu(t) eMu(t) teMul(t)
6 teMu(t) eMu(t) %th)‘tu(t)
" v nleM nlt"—
7 t"u(t) eMuf(t) ) Z mu(t)
8 tmau(t) tmu(t) mt rly(t)
y . 6/\gt _ e>\1t + (/\1 _ /\2)t6>‘1t
9 teMtu(t) ertu(t) TYESE u(t)
t n LAt m‘n' m+n t
10 tmeA U(t) t €>\ U(t) m + +1€)\ U(t)
11 t e)\ tu(t) t e>\ tu(t) JZO j‘(m ]>|<)\1 )\2)n+]+1
n ( 1>kn|(m + ]C)'tn k )\gt
)\1 7£ )\2 +ZO /{:' n _ k)'( /\1)m+k+1 )
ot \ cos( — ¢)er — eMcos(Bt + 0 — ¢)
12 e cos(ft + O)u(t) eMu(t) CESNE:: u(t)
¢ = tan™! [=5/(a + )]
13 e~ cos(Bt + O)u(t) eMu(t) ekltu(t))\ a e;\\?tu(—t) ReAy > Re)\
2 — A1
14 Mty (—t) oty (—t) %u(—t)




